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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-5
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=it 6006.0 (22)%) 3300. 0 B WHKEC: 2080.0, PH: 5.7
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P3-5

BfiE) | EBAK (R | EHE (EHRH/K) | ERERE (/R | XK R
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36. 25
36. 00
35. 75 A
35. 50 A
35. 25 A
T T T
520 525 530
m=690,m FV0=0
—— MW
37.0
36. 5
36. 0
35.5 -
35.0 -
690 695 700
m=839,m FV0=0
-— MW
37.5 A
37.0
36.5
36. 0
35.5 -

840 845

36.

36.

35.

35.

34.

37.

36.

36.

35.

35.

37.

37.

36.

36.

35.

35.

38

37 A

36

35

34

33 -

32 -

M_w

T T T
600 800 1000

m=570,m FV0=0

5_

—o— MW

5%5 5é0
m=730,n FV0=0

—o— MW

?
7

7é5 7AO
m=875,n FV0=0

730

- MW

7
i
7

875 880 885

34.

34.

33.

33.

32.

32.

36.

36.

35.

35.

38.

37.

37.

36.

36.

35.

38.

37.

37.

36.

36.

35.

m=445, FV0=0

5_

0 -

M_W

460 455
m=610,n FV0=0

445

—o— MW

6%5 650
m=765,n FV0=0

—o— MW

7%0 7%5
m=915,n FV0=0

-— MW

920 925

36.

35.

35.

34.

34.

33.

37.

36.

36.

35.

35.

38.

37.

37.

36.

36.

35.

37.

37.

36.

36.

35.

35.

m=495, FV0=0

—— MW

560 565
m=655,n FV0=0

—— MW

GéO 6é5
m=800,n FV0=0

—— MW

865 8%0
m=965,n FV0=0

800

- MW

965 970 975




m=1010, FV0O=0

—— MW
37.5
37.0 -
36.5 -
36.0 -
T T T
1010 1015 1020

38. 00 A

37.75 A

37.50 A

37. 25 A

37.00 A

36. 75 A

m=1040, FVO=0

—0—

M_w

T
1040

T
1045

T
1050
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P3-5

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:10 278 150.0 2.583 FA| {Ri%@06:10 Bz (kAMEE:E)
08:10 278 150. 0 2.583 |Z=| {Ri%e08:10 Bzl (REAEZEHE)
08:45 278 150.0 2.583 |Z=| {Ri&e08:45 Bz (KREEZEHE)
09:40 278 150.0 2.583 (Z=| {Ri%@09:40 Bz (FAERHSE)
10:35 278 150. 0 2.583 | =| {Ri%e10:35 Bz (REAZBE)
11:10 278 150. 0 2.583 |Z=| BRige11:10 Bz CGRAEREE)
11:45 278 150. 0 2.583 |Z=| {Ri&e11:45 Bz GGREERSE)
12:25 278 150.0 2.583 | =| {Ri&e12:25 Bz (REEZEBE)
13:15 278 150.0 2.583 [/\fi| {Ri%@13:15 Bz (REAERSE)
13:45 278 150.0 2.583 [/\ifi| {Ri%@13:45 Bz (REAEHSE)
14:15 278 150.0 2.583 FR| {Ri&@14:15 Bz CGRAEREE)
14:45 278 150.0 2.583 FH| 1Rige14:45 Bzh (GRAEREE)
15:20 278 150.0 2.583 (£=| {Ri%e15:20 B3 (RAEZSE)
16:10 278 150.0 2.583 |Z=| {Ri%e16:10 Bz (REZBE)
17:00 278 150.0 2.583 |Z=| {Ri&e17:00 Bz (REEZEBE)
2it] 4170.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

[E;&EC 5397.0 K&, EiNF{KECAE&M%ER
#H[EKECE (1897.0 vs 5397.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=72 (2025-06-09)

-] D S S ES
VI, V4RV, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET [ 2000
2500 ~

100 - 034 969 o

1700 geseog 2000 —

50 1 L 1000 &
20 Warning: lcol [FVI',| "FVO’'] missing 40

0 -0
( i

200 L 50. 0

150 - F47.5

100 =

L 45.0

50

L 42.5
1.0
U

0.8 -

0.6 -

0.4

0.2

Warning: lcol ["WC1',  "WC2'] missing

0.0

0.8 optEC0=2600. 0, setECB=2080.0 B

0.6 -

0.4

0.2

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

o | OPtPHO=6.5, setPHB=6.0 N

0.6 -

0.4

0.2

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

400 1 1 A
Bylnit @74 01:56: ET=1944 Fg=2400.0 Ro=473.0 - 3000

300 A ! s

! 2000 =

200 - I E

: —

100 ! - 1000
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E
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L 1000 &

3
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2n|Za|2=| BB | B | B | BB | 252|265 |25|2=5|Z25|0W| B [ 25|25 25 2512352525 B & I 3000

| c

%007 ByWoFy 18D74 01:56: ET=1628 Fg=2250.0 Ro=662.0 PO S 2
L 2000 >

200 - : —o—9¢ E
: —

100 - I - 1000 %
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YO T 71 2131415716 7189 w0l li2]m3]@a]nlielirlielio]o]zai]2zl2B]°
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m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

48 51.0 A
- ME 50 - ME : - ME
47 50.5
46 49 7 50. 0 -
45 - i
48 49.5
44 - 49. 0
47
9~ MF 43 48.5 -
T T T T T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FV0=0
—— WNE —— MNE —o— WNE 50 7 —— MNE
50 4 50 50 4
49 -
49 - 49 -
49 - 48 -
48 1 48 47 -
48
47 1 47 - 46
T T T T T T T T T T T T T T
585 590 595 655 660 665 695 700 705 762.5 765.0 767.5 770.0 772.5
m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FVO=0
50 -
- ME - ME - ME - ME
49 1 50 7
49
49
48 - 49 +
48
48
47
47 - 48
46 47 A
T T T 46 - T T T T T T 47 B T T T
835 840 845 875 880 885 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FVO=0
—-— MW .51 o muw 36. 25 - —— MW
33.0 -
35. 0 -
32.5 - 36.007
34.5 -
3204 35. 75
34.0 -
31.5 35. 50 -
33.5 -
31.0 35. 25
33.0 -
50 30.51 35. 00 -
400 600 800 1000 375 380 385 420 425 430 470 475 480



36.

36.

35.

35.

34.

34.

36.

36.

35.

35.

34.

34.

33.

m=585, FV0=0

—o—

MW

T
585

590
m=835,n FV0=0

T
595

—o—

M_W

T
835

T
840

845

36.

36.

35.

35.

34.

34.

36.

36.

35.

35.

34.

34.

m=635, FV0=0

—0—

M_w

T
655

6é0
m=875,n FV0=0

T
665

—0—

M_W

T
875

880

885

36.

36.

35.

35.

34.

37.

36.

36.

35.

35.

34.

m=695, FV0=0

—0—

MW

695

T T
700 705

m=920,m FV0=0

—0—

M_W

920

925

930

36.

36.

35.

35.

34.

34.

37.

36.

36.

35.

35.

m=760, FV0=0
5 - —— MW
oo
0_
5_
0_
5_
0_
T T T T T
762.5 765.0 767.5 770.0 772.5
m=1000m FVO=0
—o— MW
0_
5_
0_
5_
0_
T T T
1000 1005 1010
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P3-5

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

06:50 278 150.0 2.583 = {RRiB006:50 Bz (FRFAEEE)
07:20 278 150.0 2.583 = RRiB007:20 Bz (RAEEE)
07:50 278 150. 0 2.583 F|  {Ri%@07:50 Bah (RF{ESE
08:30 278 150.0 2.583 F  BR1%e08:30 Bl (RAEREE)
09:05 278 150.0 2.583 S| {Ri%@09:05 Bz (RAERSE)
09:35 278 150. 0 2.583 E  BRi%@09:35 BE1 (RAERRE)
10:05 278 150.0 2.583 F[ BRi%e10:05 Bz (GRAERESE)
10:35 278 150.0 2.583 =l {Ri%@10:35 B3 (RAERSE)
11:05 278 150. 0 2.583 E BRige11:05 Bz (GRAERESE)
11:35 278 150.0 2.583 S {Ri%e11:35 Bz (GRAERSE)
12:05 278 150.0 2.583 =l {Rige12:05 B3 (REAERSE)
12:35 278 150. 0 2.583 E BRige12:35 Bz (GRAERESE)
13:05 278 150.0 2.583 5| {Ri%e13:05 B3 (RAERSE)
13:35 278 150.0 2.583 = {RRiB013:35 B (RFAKESE)
14:05 278 150. 0 2.583 E BRige14:05 Bz (GRAERESE)
14:35 278 150.0 2.583 5| {Ri%e14:35 B3 (RAERSE)
15:05 278 150.0 2.583 =l RRiB@15:05 B (REAEESE)
15:35 278 150. 0 2.583 = {RRiBe15:35 Bah (REAKEE)
16:05 278 150. 0 2.583 El BRi&e16:05 Bzl (GRAEREE)
16:35 278 150.0 2.583 F[ BRige16:35 Bz (GRAERSE)
17:05 278 150.0 2.583 S| {Rige17:05 B3 (REAERSE)
=2it]5838.0 (21)%) 3150.0 3298303 %EC: 2080.0, PH: 6.0

#HEKRECE (1927.0 vs 5100.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=71 (2025-06-08)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F-—————f——————f——————F-————-f—— e
VI, V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 3000
12
2500 2500 580
100 +
903 - 2000
50 7 L 1000
40 Warning: lcol [FVI',| "FVO’'] missing 20
0 -
(
200 S
150 -
100 -
50 A
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit :@D74 01:56: ET=2537 Fg=3150.0 Ro=626.0 i‘4000
400 ~
- 3000
200 - - 2000
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
woo LW | W | v | W | | w6 | W | W | % | [ | w5 | W [ | | | [ W | | m | m [ [ w5 | 4000
7] |
ByEt @D71 19:08: ET=2329 Fg=2550.0 Ro=nan 1 L 3000
200 - - 2000
- 1000
» o - o o o
A=
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
O 0 0 0 0 s O M B R M M R A R
7] I
ByWoFv :@D74 01:56: ET=2612 Fg=3150. 0 Ro=600.0 L 3000
" I
1 |
200 - : 2000
: - 1000
b PN —® o—o \——\’__\
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
A AR A A A AR A A A AR AR AR A AR AR A AR A RN R A A
0.6 -
0.4 1
0.2 A

—_—
[ ] | _obs
—@— PPFD obs

60

40 - RH
[ ] RH_obs
[ ] RHo_obs
20 ~
e v {
3 -
()
A 2
)
T T T T T T T
10 12 14 16 18 20 22 24

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=390, FV0=0 m=435, FV0=0 m=505, FV0=0

—o— ME —o— ME —o— ME
49 50.5
50
48 - 50. 0 A
i 49
47 - 49.5
49. 0 -
46 48
48.5 -
45
T T T T T T T 48 0 - T T T T T T
400 600 800 1000 390 395 400 435 440 445 505 510 515
m=555,m FV0=0 m=595,m FV0=0 m=630,m FV0=0 m=665,m FV0=0
i 50 -
50 —o— NE —— ME —o— WNE —— NE
49
49
49 - 49
48
48 - 48 -
48
47
47 1 47 A
47
46
T T T T T T T T T T T T
555 560 565 595 600 605 630 635 640 665 670 675
m=695,m FV0=0 m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0
—-e— ME —8— ME | 490 —— ME | 49.0 - ME
49 49 -
48,5 - 48.5 -
48.0 - 48. 0
48 48
47.5 1 47.5 1
47.0 -
47 - 47 4 47.0 -
46.5 - 46. 5 1
46 R T T T T T T 46 0 K T T T 46 0 i T T T
695 700 705 725 730 735 755 760 765 785 790 795
m=815,m FV0=0 m=850,m FV0=0 m=885,m FV0=0 m=920,m FV0=0
49 - 48. 5 A
—-— ME —8— ME | 450 —8— ME | 455 —o— ME
48.0
47.5 - 48.0 -
48 47.5
47.0 47.5 1
47.0 -
46. 5 - 47.0 4
47 46.5 -
46.0 - 46.5 -
46.0 -
45.5 -
46.0 -
46 7 45.5 -
T T T T T T 45 0 K T T T T T T
815 820 825 850 855 860 885 890 895 920 925 930



49.

48.

48.

47.

47.

46.

46.

35.

35.

34.

34.

36.

36.

35.

35.

34.

34.

37.

37.

36.

36.

35.

35.

m=935, FV0=0

49.

48.

48.

47.

47.

m=995, FV0=0

46.
9%5 9é0 9é5 9é5 10b0 10b5
m=435,n FV0=0 “ m=505,n FV0=0
35.
35.
34.
34.
455 4&0 4&5 565 5%0 5%5
m=630,n FV0=0 m=665,n FV0=0
36.
36.
35.
35.
34.
650 Gé5 6&0 665 6%0 6%5
m=755,n FV0=0 m=785,n FV0=0

755

760 765

38.

37.

37.

36.

36.

35.

785

790 795

36.

35.

35.

34.

34.

37.

36.

36.

35.

35.

34.

37.

37.

36.

36.

35.

T T T
400 600 800 1000

m=555,n FV0=0
—-o— MW
5%5 5é0 5é5
m=695,n FV0=0
—-— MW
665 760 765
m=815,n FV0=0

-— MW

it
i

815 820 825

34.

34.

33.

33.

32.

32.

31.

36.

35.

35.

34.

34.

37.

36.

36.

35.

35.

37.

37.

36.

36.

35.

35.

34.

m=390, FV0=0
—-— MW
3é0 3é5 460
m=595,n FV0=0

—— MW

i

T T
595 600 605

m=725,n FV0=0
—o— MW
7é5 7é0 7é5
m=850,n FV0=0

- MW

850 855 860




m=885, FV0=0

37.0 -

36. 5

36. 0

35.5 -

35. 0 -

34.5 -

—0—

M_W

885

T
890

T
895

m=920, FV0=0

37.5 4

37.0 A

36. 5

36. 0

35.5 A

35.0 A

—O—

M_w

920

T
925

930

m=935, FV0=0

37.5

37.0 A

36. 5

36. 0

35.5

35.0

——

M_W

955

T
960

T
965

m=995, FV0=0

37.5 4

37.0 A

36. 5

36. 0

35.5 -

35.0 A

—0—

M_w

995

T
1000

T
1005
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P3-5

BfiE) | EBAK (R | EHE (EHRH/K) | ERERE (/R | XK R

06:45 273 150.0 2.583 5 B2i%@06:45 B3h (K BEREE)
07:15 273 150.0 2.583 & BRi%@07:15 Bzh (REERESE)
07:55 273 150. 0 2.583 5 BRi&@07:55 Bz (RFA{EREIEE
08:35 273 150.0 2.583 5 i1%@08:35 BHzh (KAL)
09:10 273 150.0 2.583 5 B21%@09:10 Bzh (KEERESE)
09:40 273 150. 0 2.583 5 ’Ri%@09:40 Bz (KRAERESE)
10:10 273 150.0 2.583 & Bi1&@10:10 B3h (KRBERSE)
10:40 273 150.0 2.583 i BRi8@10:40 Bzh (REPERESE)
11:10 273 150. 0 2.583 & Ri%e11:10 Bzh (GRAERESE)
11:40 273 150. 0 2.583 5 BRi%@11:40 B3h (KRAHERSE)
12:10 273 150.0 2.583 5 BRig@12:10 Bzh (RBERESE)
12:40 273 150. 0 2.583 & Ri%e12:40 Bzh (GRAERESE)
13:10 273 150. 0 2.583 & Ri%e13:10 Bz (RAERSR)
13:40 273 150.0 2.583 5 Bi%@13:40 B3h (kBHEREE)
14:10 273 150. 0 2.583 = Ri%e14:10 Bzh (GRAERESE)
14:40 273 150.0 2.583 5 BRige14:40 Bzh (REERESE)
15:10 273 150. 0 2. 583 5 Bi%@15:10 B3h (kBEREE)
15:40 273 150.0 2.583 & Brig@15:40 Bzh (REERESE)
16:10 273 150. 0 2.583 5 BRi%e16:10 Bz (RAERESE)
16:40 273 150.0 2.583 & i18@16:40 B3h (KREBERKSE)
17:10 273 150.0 2.583 B FiTe17:10 Bz GRAEESE)
=23t]5733.0 (21)%) 3150.0 3298053 %EC: 2080.0, PH: 6.0

#H[EKECE (1877.0 vs 4700.0) d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=70 (2025-06-07)

150 A

100 A

50

200 4
150 -

100 A

VI, VB®RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2992

2500 5363q

2000 [£190

Warning: lcol [FVI',| "FVO’'] missing 40

50 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

400

300 -

200 -

100 A

0 1

1
Bylnit:@D74 01:56: ET=2258 Fg=2850.0 Ro=570.0 t

|
<

WP 2 il

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 17 18 19 20 21 22 23

400

5 6
FE | W& | W& | BE | A5 | RE | RE | EE | RE | e | & | W& | W& | A5 | RE | RE | Ee | BE | & | BE | A& | A5 | A& | BB |

300 -

200 -

100 A

ByEt @D70 19:08: ET=2350 Fg=2550.0 Ro=nan

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 6 17 18 19 20 21 22 23

400

5
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES |
5 5 5 i 5 5 H i 5 5 5 5 i B 5 G A B 5 G A

300 -

200 -

100 A

1.0 A

]
ByWoFv 1@D74 01:56: ET=2530 Fg=3150.0 Ro=731.0

0.8

B B 5] B B 5] B B B 5]

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

80 A

60

40

RH_obs
RHo_obs

4000

46
w

=
44

42

40

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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